Parameters Setting of A2 Servo Drive
P1-01 = 0x0B (CANopen mode)

P3-00 sets Node ID, the range is 0x01~0x7F
P3-01 sets Baudrate, the range is 150Kbps~1Mbps

P3-09 is the parameter to set SYNC object period, suggestion setting value is 0x5055

After all settings above are done, re-boot the A2 drive
Find Node
Master sends Find Node package
	Length
	Id
	Byte1
	Byte2
	Byte3
	Byte4
	Byte5
	Byte6
	Byte7
	Byte8

	2
	0x000
	0x81
	0x00
	
	
	
	
	
	


A2 replies
	Length
	Id
	Byte1
	Byte2
	Byte3
	Byte4
	Byte5
	Byte6
	Byte7
	Byte8

	1
	0x700 + node ID
	0x00
	
	
	
	
	
	
	


From Id, we can know how many A2 drivers in Bus and what is their node ID respectively
Simple Position Point-to-Point Movement 
(Assign target position / arrange target speed / arrange acceleration and deceleration time of velocity profile)

Master to set the control mode to point-to-point movement (Profile Position Mode) [6060h:0 = 1]

	Length
	Id
	Byte1
	Byte2
	Byte3
	Byte4
	Byte5
	Byte6
	Byte7
	Byte8

	8
	0x600 + node ID
	0x2F
	0x60
	0x60
	0x00
	0x01
	0x00
	0x00
	0x00


Master to set the Target Position as 1000000PUU   [607A h:0 = 1000000[F4240h] ]

	Length
	Id
	Byte1
	Byte2
	Byte3
	Byte4
	Byte5
	Byte6
	Byte7
	Byte8

	8
	0x600 + node ID
	0x23
	0x7A
	0x60
	0x00
	0x40
	0x42
	0x0F
	0x00


Master to set the Profile Velocity as 10000PPS[puu per second]  [6081h:0 = 10000[2710h] ]

	Length
	Id
	Byte1
	Byte2
	Byte3
	Byte4
	Byte5
	Byte6
	Byte7
	Byte8

	8
	0x600 + node ID
	0x23
	0x81
	0x60
	0x00
	0x10
	0x27
	0x00
	0x00


Master to set the Profile acceleration as 200ms  [6083h:0 = 200[C8h] ]

Acceleration time is 200ms means motor speed from 0rpm to 3000rpm needs 200ms

	Length
	Id
	Byte1
	Byte2
	Byte3
	Byte4
	Byte5
	Byte6
	Byte7
	Byte8

	8
	0x600 + node ID
	0x23
	0x83
	0x60
	0x00
	0xC8
	0x00
	0x00
	0x00


Master to set the Profile deceleration as 300ms  [6084h:0 = 300[12Ch] ]

Deceleration time is 300ms means motor speed from 3000rpm to 0rpm needs 300ms
	Length
	Id
	Byte1
	Byte2
	Byte3
	Byte4
	Byte5
	Byte6
	Byte7
	Byte8

	8
	0x600 + node ID
	0x23
	0x84
	0x60
	0x00
	0x2C
	0x01
	0x00
	0x00


Master to set the ControlWord to Servo-On the A2 drive  [6040h:0 = 0x0Fh ]

	Length
	Id
	Byte1
	Byte2
	Byte3
	Byte4
	Byte5
	Byte6
	Byte7
	Byte8

	8
	0x600 + node ID
	0x2B
	0x40
	0x60
	0x00
	0x0F
	0x00
	0x00
	0x00


Master to set the ControlWord to trigger the A2 driver to perform absolute position action [6040h:0 = 0x1Fh ]

If set to operate in absolute position, Target Position in setting is actually the target position [absolute position]

	Length
	Id
	Byte1
	Byte2
	Byte3
	Byte4
	Byte5
	Byte6
	Byte7
	Byte8

	8
	0x600 + node ID
	0x2B
	0x40
	0x60
	0x00
	0x1F
	0x00
	0x00
	0x00


Master to set the ControlWord to trigger the A2 driver to perform relative position action  [6040h:0 = 0x5Fh ]

If set to operate in relative position, Target Position in setting is the distance the next action going to travel [relative incremental]

	Length
	Id
	Byte1
	Byte2
	Byte3
	Byte4
	Byte5
	Byte6
	Byte7
	Byte8

	8
	0x600 + node ID
	0x2B
	0x40
	0x60
	0x00
	0x5F
	0x00
	0x00
	0x00


· If going to perform next position command, need to reset the ControlWord to 0x0F and then trigger again
Interpolation Position Movement
Master to set the control mode to interpolation position movement (Interpolated Position Mode) [6060h:0 = 7]

	Length
	Id
	Byte1
	Byte2
	Byte3
	Byte4
	Byte5
	Byte6
	Byte7
	Byte8

	8
	0x600 + node ID
	0x2F
	0x60
	0x60
	0x00
	0x07
	0x00
	0x00
	0x00


Master to set the communication synchronization period to 4ms   [1006 h:0 = 4] ]

	Length
	Id
	Byte1
	Byte2
	Byte3
	Byte4
	Byte5
	Byte6
	Byte7
	Byte8

	8
	0x600 + node ID
	0x23
	0x06
	0x10
	0x00
	0x04
	0x00
	0x00
	0x00


Master to arrange the parameter of PDO: the ID that A2 would receive  [1400h:1 = 0x200 + node ID ]

	Length
	Id
	Byte1
	Byte2
	Byte3
	Byte4
	Byte5
	Byte6
	Byte7
	Byte8

	8
	0x600 + node ID
	0x23
	0x00
	0x14
	0x01
	node ID
	0x02
	0x00
	0x00


Master to arrange the parameter of PDO: the command frequency that A2 would receive  [1400h:2 = 1 ] 

A2 will process the position command when receiving SYNC signal from Master for each time
	Length
	Id
	Byte1
	Byte2
	Byte3
	Byte4
	Byte5
	Byte6
	Byte7
	Byte8

	8
	0x600 + node ID
	0x2F
	0x00
	0x14
	0x02
	0x01
	0x00
	0x00
	0x00


Master to arrange the receiving mapping of PDO: Clean the mapping table
	Length
	Id
	Byte1
	Byte2
	Byte3
	Byte4
	Byte5
	Byte6
	Byte7
	Byte8

	8
	0x600 + node ID
	0x2F
	0x00
	0x16
	0x00
	0x00
	0x00
	0x00
	0x00


Master to arrange the receiving mapping of PDO: Adding position command 1

	Length
	Id
	Byte1
	Byte2
	Byte3
	Byte4
	Byte5
	Byte6
	Byte7
	Byte8

	8
	0x600 + node ID
	0x23
	0x00
	0x16
	0x01
	0x10
	0x01
	0xC1
	0x60


Master to arrange the receiving mapping of PDO: Adding position command 2
	Length
	Id
	Byte1
	Byte2
	Byte3
	Byte4
	Byte5
	Byte6
	Byte7
	Byte8

	8
	0x600 + node ID
	0x23
	0x00
	0x16
	0x02
	0x10
	0x02
	0xC1
	0x60


Master to arrange the receiving mapping of PDO: Adding position difference
	Length
	Id
	Byte1
	Byte2
	Byte3
	Byte4
	Byte5
	Byte6
	Byte7
	Byte8

	8
	0x600 + node ID
	0x23
	0x00
	0x16
	0x03
	0x10
	0x03
	0xC1
	0x60


Master to arrange the receiving mapping of PDO: Adding ControlWord
	Length
	Id
	Byte1
	Byte2
	Byte3
	Byte4
	Byte5
	Byte6
	Byte7
	Byte8

	8
	0x600 + node ID
	0x23
	0x00
	0x16
	0x04
	0x10
	0x00
	0x40
	0x60


Master to arrange the receiving mapping of PDO: Set the mapping table to 4 sets of Data
	Length
	Id
	Byte1
	Byte2
	Byte3
	Byte4
	Byte5
	Byte6
	Byte7
	Byte8

	8
	0x600 + node ID
	0x2F
	0x00
	0x16
	0x00
	0x04
	0x00
	0x00
	0x00


Settings above are for A2 command receiving settings, Master must send one SYNC command and one interpolation command out every 4ms
Assume there are 7 position points, from X-3 to X+3

X-3,  X-2,  X-1,  X,  X+1,  X+2,  X+3
The position difference at X point is [ (X+1) + (X-1) ] / 2

Master to switch A2 to operational mode
	Length
	Id
	Byte1
	Byte2
	Byte3
	Byte4
	Byte5
	Byte6
	Byte7
	Byte8

	2
	0x000
	0x01
	0x00
	
	
	
	
	
	


Then, Master needs send SYNC package and PDO package every 4ms 

[Strongly request: the timing of SYNC package sent from Master must be accurate]

Master to send the SYNC package
	Length
	Id
	Byte1
	Byte2
	Byte3
	Byte4
	Byte5
	Byte6
	Byte7
	Byte8

	0
	0x080
	
	
	
	
	
	
	
	


Master to send the PDO package
	Length
	Id
	Byte1
	Byte2
	Byte3
	Byte4
	Byte5
	Byte6
	Byte7
	Byte8

	8
	0x200 + node ID
	Position Command
	Position Difference
	0x0F
	0x00


[If the data length of position command and position difference was larger than 1 Byte then the data need to be divided in order to fill them into the PDO package.
For example, if the position command is 0x12345678：Byte1 is to fill out 0x78；Byte2 is to fill out 0x56；Byte3 is to fill out 0x34；Byte4 is to fill out 0x12； The fill out format for position difference data is the same.]
Follow the settings above should be able to perform interpolation mode!!!

